9 octobre 2012
FLA #02

000 D00 (Fourier and Laplace Analysis) O 2 [J

to.yamamoto

1 0Jo0gnd
« 0000000000

e JOOOOODOO

2 JOooon
e 000D

e OO OOO

21 OOOO

00000000000 o0oooo0o0o00ooDooooooooDooooooooooooooog
ood
J00d00oo0o00oooobDO0ooooooDU0o0oU00ooDOoOooDOooo0 r+00000000000
xeROOOO
AT Vx f(x+T) = f(x) (D

00000000000ooo0o0oooooooooooooooooooooooog
e 000D f(x)=cOD0ODOTOOOOOOO
esinx0000 2k k00000 DHODOODOODO 2r
e sinx/ V70000 2V7knr, 00O OO 2V7n
e 2cosx/5+3sinx/70000 70kx000000 707

gboooboooboboobboo

22 DOOOOOOOODOOO

000000000000000000000000D00000f(x)0000 TOOOOXxO x7/T0000
oo

g0 = f(21) @)

00 gwDO000 FO000g(x+7T)=¢O000000@O0000000)000000000000
0000000000000002:0000000000000000000000



0000000010000 0000000000000000000000000f(x)0000 [¢,b000
00 f(dx0000000a,a+TelablBB+TelabJ00000000 0000

a+T +7 +T v
f(x)dx fﬁ fx)dx+ fx)dx— f fx)dx
B B+T B

+T
f f(x)dx+ff(x)dx—ff(x)dx
B B B
+T
= fﬂ f(x)dx 3)
B

oobooooboboooobob 1ooobooobooobobooboooobe=000000000 [0,T]OOOOO

a=-T/200000000 [-7/2,7/21000000000000000000O0000O000O0O
T/2 T2

fx)dx=2 fx)dx (€]
0

=T/2

gbooboaooboo
T/2

Fx)dx=0 (5)
-T/2

obooboooooOOobbOoboO00DbDe=-720000000

23 OOOOOO
oo0roooog fx0O
a < 2nm . 2nm
fx) ~ E+;(ancosTx+bnsme) (6)

ooooooooo 1,7/2,7/3,...,T/n,... 00000 (cos)DD0O0O0O i) DD0DO0O00DOOOODODOODO
OO00Oag, a1,a2,...000 by, by,.. 0000000000000 OOO0O0O0OODOOOCOOOO

2 (T2 2
a, = =— f(x)cos ﬂ)cdx,
T Jorp T
2 (T2 2
b, = = f(x)sin ﬂxdx,
T Jrp T
ooooood
000 2r000000000DODOODOO
glx) ~ %O+Z(ancosnx+bnsinnx) (7)

n=1

oboooobooobooboboooocoooon

1 T
a, = - f f (x) cos nxdx,

1 T
b, = - f £ (x) sin nxdx,
T -7

gooo

0000000 ooobn foobOO0O0OO0O0 cosnxO0OO000ODO0 sinmxO0000000O00O0O0OOCODODOOO
gooooooooooooobooobobooboooboboobboboooooboboobooDbbon
O foO00000000D000O0o0ooooooDbb0oOoogDn

o f(x)UODODODDOOUOLDOfxOODOODOOOODOODOOO
e f(ODOOOOODDDOOODOf0D ff(ODOODOOODOODODOOO
fxO0O0O0OoooooooobO0ooooOooOo0oOoobOoOoooDbDOoooDoOoooDooOOgn



24 DO0OOOODOOO

3 gooooo?2

gboobobbooooooboboboooooooboooobooboooobobooooboooobooboooon
goo
F-2-1 OOO0OODOOOOOO

1) dy/dt = —ky, y(0) = yo
(2) dy/dx =k/x,y(x9) =0
3) dy/dx+2y(1)=0,y(0) =2

A3) dzy/dx2 —5dy/dx+6y=0,y(0)=0,y (0)=1

e JO00O0ODODA4D00 BSODODDOOUODOODODOODOODODDOOOOODO

o JOO(HOIOODOOOOM@IODOOOOOODDOOOOOOODmMOOOOoOOoOooo@3oooooooon
ooobooooooobbooboo@ooooooboboobooobooboobooooboooOooDon)

e JO00ODOO0DOOOOOOODOODDODODOOOOLOOOOOODODLOOOODODOOODLDODOOOOOODO
@ooboooobobbooboOoooboOoobOoobooobooooooboOooooonn)

e JOOOD2012.1016(0D 000000 70000@C@UOLDOOODODOOOODOObDODOOn)

e OO0 OOOODOODOOOODOOOOOOOOOOOOODOOOOOODOOOODOOOOOOOODOOO
bgooobobobooooooobobobboouoooboboobobobobbboobobobooonn
¢»yoobooboboOooboboobobOOobOOoboboOobbOoooOoboooboobboboboboboDboOoooog
goooao




